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All questions arc compulsory. The blind students will be given 30 minutes extra time.
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(31) HeT TFE HAT TRaT & () ¥ FYT TF TG TZAT 2
(W) whiafda grar w@ar g () ITF | 7 FE T4l |

Environment :

(a) Always remain same

(¢) Keeps on changing
27 agTEee dEEge A g w4 2

¢) B (%) TEAATH

Nature of Environmental Study is

(a) Llaborate

(b) Multidimensional

(b) Remain same for long time
(d) None of the above,

(/) sgf=T (®) TemardT |

(¢) Narrow (d) Two-dimensional.

L3 el wet i e E
(=) g ma B (7) 3T FT AFGTFAT (/) 9T UF AT (3) TR T

Abiotic Elements include :
(a) Land and Soil

() ITREE HETEA

(%{) HATE FT TATEA
Petroleum is

(a) Natural Resources

(¢) Means of Communication

\.5_

(b) Availability of Water

(¢) Light and Linergy (d) All of above.

(@) wrfare 7=
(%) 7 T =0T

(b) Waste Product
(d) Source of Water.

5~ waiEer v avgy afvw €, A R g wwrlEe HEAt g 17 g e B AT

(1) 3. T, T A (7) FT% A

(%) 7. 3T, geee (Z) W ATIET

i 3 o ‘ " e e i .
“Environment is an external forces which are affeets us.” The definition given by :

(a) J. S. Ross (b) Clarke
&, AT ET efeRs ®Y Aweadr g

() ZorTeit 7 (@) Staq &

The meaning of Linvironment is nearby :

(a) Conditions (b) lifc
G TR H T F A7 arEias i wr avw g

() Far () aTITET

The part of Natural linvironment :

(a) Lithosphere

. (c) Process

(b) Atmosphere

(c) A. G. IHansley (d) A. Guadie.

(%) whmaT (F) T7H | FIL 727 |
(d) None of these,
(37) FARTET ¢ (%) 395 7T |

(c) Hydrosphere (d) All of above.

&/ HF TETAET £T IS 2, AT TFEA FTET E, T8 09 AT TAETH 2

() FTTATAT

(&) mirfRetadT

(]7) FwEATAT (7) Forerarst |

Man is a product of Iinvironment, Man is a slave of nature which approach is this :

(a) Communist (b) LEcology
Y. A= F AT A9 e g
() T () ufi

Which is Non-Renewable Regources of the following ;

(a) Petrol (b) Land

(¢) Possibilists (d) Deterministic,
() 7 () STeor= |

(c) Water (d) Hydraulic Power,
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(31) 16 e =t () 16 sT3za+ =7 () 16 o7 7 (%) 16 =% Fir
The World Food Day comes on :
(a) 16 September (b) 16 October (¢) 16 Junc (d) 16 August.
(oF) 74T & sroreet # gf () -5 STy 27 AT 2
(M = Bqrar e g (&) I T |
In Flood which onc oceur :
(a) Increment in water level of river (b) Dryland is covered by water
(¢) Trees disappears (d) All of above.

AT HIHR 377 F wmr T T FET ATAT S

(37) AT & 75% FHAGAT  (7) ATAT F S0% FH A () TS & 25% FH AT (=) 5T F 0T 2T |
According 1o the Indian Weather Science, the Drought is called when ¢

(a) 75% less rain than normal (b) 50% less rain than normal

(¢) 25% less rain than normal (d) Late raining.

(3) &z () T (%) AT (7) g7t |
Uncontrolled and unlimited expansion of water is called :

(a) Flood (b) Earthquake (c) Cyclone (d) Landslide.

HaT A5 AT F g

(%) 77 7 foraar (@) =7 FmTer (%) FaTTRA T &) T At
Cause for Soil Erosion is :

(a) Imbalance of Rain (b) Deforestation (¢) Shifiing Agricultural  (d) All of above.
grivfeafaT @7 uF ghrE 2

(3) FraTea (Ffesfrer (%) Fge (%) #7741 |

The Ecosystem is a ¢

(a) Working Unit (b) Motional Unit (¢) Stable Unit (d) Nonc of these.
AR Farer i ererroo ¥ fres 2

(&) 3 o7 (&) FFATs () HeTEaT (%) =i |
Sustainable Development Concept is given by ¢

(a) Charis Park (b) Macnall (¢) Mallever (d) Tansley.

P s o vore £

(1) ST =T (7) M7, A7, 571 T F917 TavEA

() |TEAT AT At F B = (3) 370 74T |

Mecasures of Sustainable Development -

(a) Pollution Control (b) Proper management of Earth, Air, Water
(c) Saving Resources for Future (d) All of above.

‘TR e aem A s wig ey o o

(z1) Srew (@) zhwer (1) gz (%) fez |

Who first explain the word ‘Licosystem’ :

(a) Odum (b) Tansley (¢) Heget (d) Ritter.
(Frargias FaraT () HTA 73789

(A7) S HETET (%) Z3T HT AP0 A7 |

Solar Energy is :

(a) Natural Resources > (b) Human Resources

(¢) Biotic Resources (d) Non Renewable Source of Energy.

SHTEF w2 TE &

(1) T TeTE (@) ITI=T (37) wyH=T &) FEF TE e |
Which is not a Biotic Component ;

(a) Self Producer (b) Consumer (¢) Decomposer (d) Organic Matter,
F] ET T 2oft F vy T 2

() TFITRH () ZT9TFT CIEEEE:S (7) st 7= |
Fungi are in which scries

(@) Producer (b) Consumer (c) Decomposer {d) Abiotic Component,
ST 79T 375% P ey geest ur B &

(%) 3 Frsrer () T P (7} AR faefy (7) gl e |
Science of mutual relation between Organism and their Environment is ; _

(a) Biology (b) Physics (¢) leosysiem {d) Natural Science.
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TF 7 il mrE 4T F T qeg e T PR B

() ffars (&) Ty FA7 (¥7) =T ST (&) AT HE |
When more than one Food Chain is interconnected is called

(@) Pyramid {b) Food I.cvel (¢) 'ood Web (d) Food Group.
Tt qrivfEafas 7= 75 &

(37) wefry g At A () st AT R A=

(T) Trfire T 5 (=) FET o i R R A

Which is not a Natural Ecosystem : _ '

(a) Land lcosystem (b) Aquatic Heosystem

(c) Agricultural licosystem (d) Marine Ecosystem.

S fAfamT ore8 FT TR F0 aqrer guw =R T

() wraE (=) TrE (/) FTeET S, T (F) 5. |1, &9 |
First person was 1o usc Bio-diversity

(a) Freud (b) Robert (¢) Walter G. Roman (d) 1. €. Basu.
EERCIEE G EELEa ?mr 2.

(31) wfgafea urae F) FET FUET (1) STATH T4 F YT (3) 37 7
Solution for conserve Bio- dwcr:,uv

(a) Restriction of Hunting (b) Artificial Collection

(¢) Improvement in Habitats (d) All of above.

I T e - gt # e e 2 In how many geographical arcas India is divided |
(a) 10 (b) 8 (c) 6 (d) 4

St FAfaerar #77 7¢ m arft et 8

(o) ZoT wzae T AT ® ) ATy wRe (1) F9T FAT H (F) AT a7
Where the Bio-diversity is low :

(a) Tropical Areas (b) Polar Arcas (¢) Rain Forests (d) Oc¢zan Arecas.
FIve inmET?MU-wWWFEWﬁﬂTWﬁ%qH%: ;

&) "2 g (a) wfany dmre (7) FTSrEaT (Z) FoT= |

[n which State Kanha-Kisli National Park is situated :

(a) \hdhyd Pradesh (b) West Bengal (¢) Rajasthan (d) Uttaranchal.

TSI T HATEF gT9 A0 & (3 Al H G wr

() oiTe feaefiy 2t & () For et et A (%) adrg =t | (%) wEegelTg 20T H |
In which area disintegration of nature occur most : g

(a) Cold Countrics (b) Tropical Countries (c) Coastal Countrics (d) Deserts.
TP ¥ Hepede TIeY ST § 7o §

(3¢) tfrorer (F) 79 () #r (7) = |
Which onc is threatened plant in India :

(a) Pipal (b) Babul (c) Neem (d) Chandan.
AR 3 S Igu F G AT § _

(=) A arafre (@) it v fEaw fraved (3 sty (T) F srfore |
The main source of Water Pollution in Cities ;

(a) Mincral Waste (b) Water and Scwage Lines

(¢) Smoke from Factories (d) Agriculture Waste.

IACHT F THIEA TAH TEAT T
(1) STl TG T AT G (@) T T A GG AA R () G AR T I E (7) 51 4w o 2 AT 2

W‘mn c¢hemical in fcmh/crx recaches water, it leads to :

(a) Increase in Algac (b) Incrmsb in Water Level (¢) Reduction in Algac (d) Water Level reduccs.
A fe a7 Al JTIT T WA B :

() Hzxd (@) 3z ¥ (1) Foreframsr o (@) A= F |

Intensity (I'requency) of Seound is measured in

(a) Meter (b) Decibel (¢) Milligram (d) Liter.

AITHIAF €317 TEIF 2

(=r) eafa FwaTe o= () FTRAT ¥ T () TgITATL (%) FATATEAT e |
A Noise Pollutant which is not natural

(a) Loud Speakers (b) Thundering of Clouds  (¢) Wind (d) Volecano Eruption,
9 7 5F7 7 7 wfas 97 F—“Mi?:

(37) Wl FT () eIt F= T (}) FHET STTA-Seq 4] 1 (F) STETST #T |

Duc to O1] Spills heavy damage is caused ;

(a) To Fishes (b) To Cattle

(c) To Sea Plants and Animals (d) To Ships.
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(&) AT G RRRETE] (%) TRgT 5

Ozone Layer stops which rays coming {rom the Sun :

(a) Infra Rays

(b) Ultraviolet Rays (c) Dircet Rays (d) Radio Rays.

FTSTHER 3 FT9 21 T A0 £

(2r) i 2T T

() FTATAT T 430 (7) wEeATH AT (Z) ATATT A7 |

The reason why Tajmahal is becoming black :

(a) Green House Effeet (b) Smoke [rom Industrics (¢) Acid Rain (d) Ozone Depletion.
e BTE9 T HE A 7

(e1) ATT 3 (@) FAET T | (a7) Arifeat & (Z) T A AT AL
Green House Elfeet is related to

(a) Temperature (b) Vegetation (¢) Discascs (d) None of the above,
SO T AT TEE '

(%) 4 (@) g (7) grfer O (Z) 7 |

Which one is not the reason of Pollution :

(a4) Smoke (b) Dust (c) Harmful Gas (d) I'rees.

e Sf (Freror) AfifRee e TR gur : When was Wild Life Protection Act passed :

(a) 1981 (b) 1972 (¢) 1970 (d) 1986
sty 7 sfafaaw #= ar g4 : When did Indian Forest Act was applicd :

(a) 1948 (b) 1952 (¢) 1972 (d) 1974
Ty T 3 R S e €

(=) WTTA & () Toer T FATET AT () e (7) TYIIEF AT |
T'he organisation working for linv ironment Conscrvation :

(a) India (b) USA (¢) World (d) All of above.
sy FeT THTEIOT R FEl g AT AT

(1) =THEH # (=) arfered 7 (77) AT H (=) AT
Where did the First World Environmental Summit have held 1n ¢

(a) Stockholm (b) Washington (¢) Geneva (d) India.
wifezaer srEtaT (e 7 Feafoad 97

(1) /1. T, =T, (CFC) (7) BTz &THTEE

(77) FEA TTE AFATTE GEEIGRISEERE

Montreal Protocol related to

(4) CFE (b) Methy! Bromide

(¢) Carbon Dioxide (d) Depletion of Ozonce Layer,

oo 3 ST AT T AACTHAT FAE FATA T AT A =T |

(%) TR (F) T |

The need of Lnvironmental Awareness is only required at | wocal Level,

(a) Truc (b) False.

T fﬁ7°r s g gt rator w e e

() e () T |

The Silent Valley Movement was against Dam Project.

(a) Truc _ (b) Falsc.

ST T ey aE A A A

(z1) =T 4 (=) FHET (77) 7T (Z) ATHT |
Which is the longest river of India

(a) Chambal (b) Narmada (¢) Ganga (d) Tapti.
S Aty B 74T o A T E

CORIEIER () FETAET (=) et (z) rdt |
On which river has been constructed Hirakund Dam :

(a) Godavarl (b) Mahanadi (c) Kost (d) Tapi.
a9 % TAN A & AT AT T E

SIERT () JATIAT GIEEES (7) AT |
Which is the main discasc by the usc of Polluted Water

(a) Asthma (b) Malaria (¢) Diarrhoca (d) Blindness.
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